

(2)

$$I_{\chi_z} = -3ma^2$$

then
$$\mp \begin{bmatrix} i \\ -i \end{bmatrix} = \lambda \begin{bmatrix} i \\ -i \end{bmatrix}$$

$$\int_{-7}^{3} \left[\frac{7}{0} \right] ma^{2} = \lambda \left[\frac{1}{0} \right] \qquad ; \quad \lambda = 7 ma^{2}$$

or gives
$$\lambda = 7ma^2$$

then
$$I\begin{bmatrix}1\\a\\b\end{bmatrix} = 7ma^2\begin{bmatrix}1\\a\\b\end{bmatrix}$$

$$10 + a + 3b = 7$$
 $1 + 10a + b = 7a$
 $b = -1 - 3a$

:
$$10 + a - 3 - 9a = 7$$
 : $a = 0$
: $b = 1$

Q1. Examiner's Comment:

Quite well done. Some candidates were not at all well prepared for this question,

guite a few low answers. Several with 20/20 so the guestion was clearly do-able.

-a w z = 0

Enter angles: anythor velocities

$$\Omega_1 = \omega_1 = - \cancel{\beta} \sin 0 \qquad \simeq - \cancel{\beta} \Theta$$

$$\Omega_2 = \omega_2 = \cancel{\beta} \cos 0 \qquad \simeq \cancel{\beta}$$

$$\omega_3 = -\frac{\alpha}{2} \omega_1 \left(n_0 \sin \theta \right) = \frac{\alpha}{2} \cancel{\beta} \Theta$$

Gyro (2): A $\cancel{\beta}_2 + \left(A \cancel{\Omega}_2 - C \cancel{\omega}_3 \right) \omega_1 = Q_2$

steady take

$$(A \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(no steet)$$

$$(A \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(no steet)$$

$$(A \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(no steet)$$

$$(A \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(no steet)$$

$$(A \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(no steet)$$

$$(A \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(no steet)$$

$$(A \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(no steet)$$

$$(A \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(no steet)$$

$$(A \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(no steet)$$

$$(A \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

$$(a \cancel{\beta} - C \frac{\alpha}{2} \cancel{\beta} \Theta) (-\cancel{\beta} O) = -2 mg \alpha$$

Q2. Examiner's Comment:

A printing irregularity was noticed during reading time. This was fixed and no candidates showed any sign of having been disadvantaged. Quite well done, but the geometry for part (d) escaped most candidates. It is all about making the right small-angle approximations.

$$Q_1 = A\omega_1 - (B-c)\omega_1\omega_3$$

$$Q_2 = B\omega_2 - (C-A)\omega_3\omega_1$$

$$Q_3 = C\omega_3 - (A-B)\omega_1\omega_2$$

(b) Steady state
$$\omega = \omega_{3}$$
 ($\alpha_{1} = 0$) $\omega_{2} = 0$ $\omega_{3} = 0$
 $\omega_{1} = 0$ $\omega_{2} = 0$ $\omega_{3} = 0$
 $\omega_{1} = \omega_{1}$ $\omega_{3} = \omega_{3}$
 $\omega_{2} = \omega_{3}$
 $\omega_{3} = \omega_{3}$
 $\omega_{3} = \omega_{3}$
 $\omega_{3} = \omega_{3}$

$$B\dot{\omega}_{i}' - (B-C)(A+\omega_{i}')\omega_{3}' = 0$$

$$B\dot{\omega}_{i}' - (C-A)\omega_{3}'\omega_{i}' = 0$$

$$C\dot{\omega}_{3}' - (A-B)\omega_{i}'(A+\omega_{i}') = 0$$

$$\omega_{3}'\omega_{i}'$$

$$\begin{array}{cccc} & A \dot{\omega_1'} - (B - C) & A \dot{\omega_3'} & = 0 \\ & C \dot{\omega_3'} - (A - B) & A \dot{\omega_1'} & = 0 \end{array}$$

$$\omega'' + \frac{(B-C)(B-A)-\Omega^2}{AC} \omega''_{1} = 0$$
or ω''_{1} + $\chi^2 \omega''_{1}$ = 0 but Since $\chi^2 < 0$
the motion is unstable

If $\chi^2 > 0$ then d. e. gives SHM

3(6)

[15%]

[10%]

[25%]

Q3. Examiner's Comment:

- (a) Instability of a spinning rigid body. Bookwork, and many rolled out a correct answer. Disappointingly many didn't know where to start!.
- (b) A good testing lagrange question on thebasics of Lagrange's equations. Many got lost in lazy algebra, most commonly not differentiating correctly using chain rule.

4 a) T = &M[(L+x)2 + x2] V: 2kx2 + Mg (L+x) (-coso) Spring + gravitational (L+x) 0 SW + FSy = F[Sx sm8 + (x+4) cos0, 50] => Qz = FSINO Qo: F(x+L)(050 4: (L+x) sind Lagrange For x: Dx = Mx Tx = M(L+x)+2 Tx = kx - Mg cost $\frac{d}{dt} \left[\frac{\partial f}{\partial x} \right] - \frac{\partial f}{\partial x} + \frac{\partial f}{\partial x} : Q_X$ Mi - M(L+x) + kx = Fsing + Mg (050) Lagrange For 0: To : M(L+X)20 JO :0 JO : Mg(L+X) SING Jr [76] - 10 + 10 : Q0 M(L+x)20 + 2M(L+x)20 + Mg(L+x) 5100 = F(x+L) (050) [30%] 6) Length : [(L+ 72)2+ 2,2] 1/2 extension E = [(L+22) +212) 1/2 - L 丁;发入(部十記) Solti F V: - Mg (L+72) + 2 KE2 0,0 Q: F

For 21: dr [\distribute \dist

 $\frac{7_1}{\left[\left(Lt_{21}^2\right)^2+2_1^2\right]^{\frac{1}{2}}} = 5100 \Rightarrow \text{ This term is the resolved component}$ of the tension

 $\frac{d}{dr} \left[\frac{\partial T}{\partial z_1} \right] - \frac{\partial T}{\partial z_2} + \frac{\partial V}{\partial z_2} , Q_2$ For 72:

$$\frac{M_{12}^{2} + k_{12}^{2}}{\left[(L_{12}^{2})^{2} + \xi_{1}^{2} \right]_{2}^{2}} = (050 \implies a5 \text{ above}$$

[30%]

c) For conservation of generalised momentum: T must be independent of q

U must be independent of q

For g.o these conditions are Met For $\Theta \Rightarrow \frac{\delta T}{\delta \theta}$ const

 $M(L+x)^2 \dot{\theta} = const$

> Construction of Morket of Momentum about pivol.

d) For 9 °A and g:0 the x equation becomes:

 $M\ddot{x} + (k-M\Omega^2)x : ML\Omega^2 \Rightarrow \omega_0^2 : \frac{k-M\Omega^2}{M} : \frac{k}{M} - \Omega^2$

For 127 k/M W12 is negative => Wn is imaginary => unstable system.

[20%]

Q4. Examiner's Comment:

A good Lagrange question. Many errors writing down potential energy, though KE seemed to be OK Many did well getting to the answer in 4(b) but many explained that the pendulum rod would buckle + not sure how if it's under tension.